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MENTAL ABILITY! H'o Nat dI' 

Direction Questions (1-12). There is a number series Noftes 
following a pattern one place is a left blank. Find the ____ 	 ____ 
answer among options. 

1. 	10000, 11000, 9900, 10890, 9801, 1. 10000, 11000, 9900, 10890, 9801,  
(1) 	10241 (2) 10781 (1) 	10241 (2) 10781 
(3) 	10929 (4) 10991 (3) 	10929 (4) 10991 

2.2,4, U,16 2.2,4, U,16 
3 	7 21 31 3 	7 21 31 

(1) 	6 (2) 5 (1) 	6 (2) 5 
11 9 11 9 

(3) 	_2 (4) ..L (3) 	9 (4) .L. 
17 13 17 13 

3. 	3, 12,27,48,75,108 3. 3,12,27,48,75,108............. 
(1) 	192 (2) 163 (1) 	192 (2) 163 
(3) 	147 (4) 99 (3) 	147 (4) 99 

4. 	480,96 ................ 8,4 4. 480,96..............., 8,4 
(1) 	24 (2) 88 (1) 	24 (2) 88 
(3) 	64 (4) 30 (3) 	64 (4) 30 

5. 78,56,30 5. 78,56,30, .............. 
(1) 	0 (2) 1 (1) 	0 (2) 1 
(3) 	6 (4) 20 (3) 	6 (4) 20 

6. 	2, 2, 5,13,28 6. 2, 	2, 	5,13,28................ 
(1) 	49 (2) 50 •(1) 	49 (2) 50 
(3) 	51 (4) 52 (3) 	51 (4) 52 

7. 	45,54,47 .............. 49,56,51 7. 45,54,47 .............. 49,56,51 
(1) 	48 (2) 52 (1) 	48 (2) 52 
(3) 	55 (4) 62 (3) 	55 (4) 62 

8. 	3, 20,63,144,275 8. 3,20,63,144,275............... 
(1) 	352 (2) 468 (1) 	352 (2) 468 
(3) 	548 (4) 662 (3) 	548 (4) 662 

9. 	0-5, 0-55, 0-65,0-8 9. 0-5,0 , 55, 0-65,0-8 ............ 
(1) 	0•1 (2) 1 (1) 	01 (2) 1 

(3) 	2 (4) 0.91 (3) 	2 (4) 0.91 

10. 589654,89654,9654 10. 589654,89654,9654............ 

(1) 	10093 (2) 89654 (1) 	10093 (2) 89654 
(3) 	9456 (4) 654 (3) 	9456 (4) 654 
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11. 3,6,15,48, 
(1) 	192 (2) 193 

(3) 	194 (4) 195 

12. 445,221,109, 	,25 
(1) 	41 (2) 46 

(3) 	53 (4) 58 

Directions Questions (13-17) study the letter sense 
and answer the following. 

13. , 	,babbba, ______,a,_____ 
(1) 	ababb (2) babbb 
(3) 	baaab (4) bbaba 

14. BMX, DNW, FOU,____ 
(1) 	HPX (2) HPS 
(3) 	HPT (4) GPS 

15. B,E,D,F, ______ ,H,J,  ,L 
(1) 	M,I (2) I,M 
(3) 	I,N (4) J,M 

16. mnonopqopqrs 
(1) 	mnopqr (2) oqrstu 
(3) 	pqrstu (4) qrstup 

17. 2Z5,7Y7,14X9, 23W11,34Y13, 
(1) 	47U14 (2) 27U24 
(3) 	45U15 (4) 47U15 

Direction clue:- (18-23).Find the missing term in 
place of Question Mark. 

18. 

11. 3,6,15,48, 
(1) 	192 (2) 193 

(3) 	194 (4) 195 

12. 445, 221, 109, _______ ,25 
(1) 	41 (2) 46 

(3) 	53 (4) 58 

fB(13-17)øitfl 

NORRII 

13. , 	,babbba, ______,a,_____ 
(1) 	ababb (2) babbb 
(3) 	baaab (4) bbaba 

14. BMX, DNW, FOU,____ 
(1) 	HPX (2) HPS 
(3) 	HPT (4) GPS 

.15. B,E,D,F, ______ ,H,J,  ,L 
(1) 	M,I (2) I,M 
(3) 	I,N (4) J,M 

16. mnonopqopqrs 
(1) 	mnopqr (2) oqrstu 
(3) 	pqrstu (4) qrstup 

17. 2Z5,7Y7,14X9, 23W11,34Y13, 
(1) 	47U14 (2) 27U24 
(3) 	45U15 (4) 47U15 

IOdH IPT6 (18-23) tipw f?j t W 4 I4d1 frfçr/  mru 

t%:Iw I 

18. vvvvv v441 

(1) 	180 	 (2) 	59 
(3) 	126 	 (4) 	88 

19. 	4 

202 	3  EIIIII:: 
(1) 	54 	 (2) 	45 
(3) 	35 	 (4) 	53  

(1) 	180 	 (2) 	59 
(3) 	126 	 (4) 	88 

19. 	4 

2 ('IIII:I::: 4 3  U 5 

(1) 	54 	 (2) 	45 
(3) 	35 	 (4) 	53 
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3 

(1) 	16 
(3) 	10 

(2) 	14 
(4) 	8 

(1) 	16 
(3) 	10 

(2) 	14 
(4) 	8 

(1) 	6 

(3) 	8 

(2) 	7 

(4) 	9 
(1) 	6 

(3) 	8 

(2) 	7 

(4) 	9 

22 22. 

(1) 	13 (2) 14 (1) 13 (2) 14 
(3) 	27 (4) 22 (3) 27 (4) 22 

23. J2Z, K4X, 17V, 	? 	,H16R, M22P 23. J2Z, K4X, 17V, 	? ,H16R, M22P 

(1) 	lilT (2) LilT (1) lilT (2) LilT 

(3) 	L12S (4) L12T (3) L12S (4) L12T 

Direction (24-27) No./words on the left hand side 
1(2427)1 

of sign:: have some relationship developing same 
*rit IOH'O : 	 : 

relationship on the right hand side of sign:: 
answer the Questions. - 	 - 

24.BC:DI::DE:? 24.BC:DI::DE:? 
(1) 	FG (2) RU (1) FG (2) RU 
(3) 	PY (4) SK (3) PY (4) SK 

25.KS:.1 :: 	GD:? 25.KS:44:: GD:? 
121 

(1) 	39 (2) 43 (1) 39 (2) 43 
40 49 40 49 

(3) 	289 (4) 1 6  22. (4) J.. 
169 69 169 69 

20 20. 

21 21. 

7z/ E2 9 
 

15 Z17 ~ 21 

13 12 5 

17 15 8 

25 24 ? 

29 21 20 

13 12 5 

17 15 8 

25 24 ? 

29 21 20 



26. 76835 : 54613 :: 94328 : ? 
(1) 52635 (2) 	72106 
(3) 81605 (4) 	62117 

27. Commander :Navy :: Brigadier : ? 

(1) Captain (2) 	Commander 
(3) Air-Force (4) 	Army 

Direction (28-3 1) Find odd one out. 

28. (1) Wheat (2) Barley 

(3) Rice (4) Mustard 

29. (1) Coal (2) Petroleum 
(3) Natural Gas (4) Bio-Gas 

30. (1) 2:4 (2) 4:8 
(3) 10:50 (4) 8:32 

31. (1) 15:63 (2) 22:91 
(3) 23:95 (4) 31:97 

Direction Question (32-36) In column I some given 
words have their codes II column but not arranged in 
the same manner. Find the codes and answer. 

26. 76835 : 54613 :: 94328 : ? 
(1) 52635 (2) 72106 
(3) 81605 (4) 62117 

27. : : 	? 

(1) (2) 

(3) (4) 5?P 

1ou, 

28.(1) (2) i 

(3) (4) Ra 

29. (1) W (2) autg1w 
(3) i1i1T (4) WWAIM 

30. (1) 2:4 (2) 4:8 
(3) 10:50 (4) 8:32 

31. (1) 15:63 (2) 22:91 
(3) 23:95 (4) 31:97 

1ou (3(32-36)'8)f 1 4HWe##UWUK2 fM 
wu fi 

COLUMN-1 COLUMN—II 

SAY nls 

SIP msr 

ROTATE Ihhpok 

TYRE nhpk 

YEAR nkpl 

TREAT khlph 

TAPE pmlh 

TIE hrp 

COUP moij 

32. REACT 
(1) 	Iiphr (2) pkjih 
(3) 	kplih (4) jklph 

33. EASY 
(1) 	plsn (2) lnps 
(3) 	pnls (4) lpns 

COLUMN - 1 COLUMN - II 

SAY nis 

SIP msr.  

ROTATE lhhpok 

TYRE nhpk 

YEAR nkpl 

TREAT khlph 

TAPE pmlh 

TIE hrp 

COUP moij 

32. REACT 
(1) 	liphr (2) pkjih 
(3) 	kplih (4) jklph 

33. EASY 
(1) 	plsn (2) lnps 
(3) 	pnls (4) lpns 
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34. SOUP 

(1) 	osjm 	 (2) 	sojm 
(3) 	somj 	 (4) 	osmj 

35. TRACE 

(I) 	hlkip 	 (2) 	pklih 
(3) 	pihkl 	 (4) 	hklip 

36. CURE 
(1) 	kipj 	 (2) 	jikp 
(3) 	ijkp 	 (4) 	pikj 

Direction (37-38) Questions A + B means A is the 

son of B,A-B meansAis the wife ofB,Ax B means 
A is the brother of B, A ± B means A is the mother 
of B. 

37. What does P+ R-Q means. 
(1) Q is the father of P 
(2) Q is the son of P 
(3) Q is the Uncle of  
(4) Q is the brother of P 

38. What does PxR-Qmeans. 
(1) Pis the brother of R. 
(2) P is the nephew of R. 
(3) P is the father of Q. 
(4) P is the Maternal uncle of Q. 

39. A & B are brothers, C & D are sisters, A's son is D's 

brother, How is B related to C? 
(1) 	Grand Father 	(2) 	Father 
(3) 	Uncle 	 (4) 	Brother  

34. SOUP 

(1) 	osjm 	 (2) 	sojm 
(3) 	somj 	 (4) 	osmj 

35. TRACE 
(1) 	hlkip 	 (2) 	pklih 
(3) 	pihkl 	 (4) 	hklip 

36. CURE 
(1) 	kipj 	 (2) 	jikp 
(3) 	ijkp 	 (4) 	pikj 

fw4(37-38)A+B HA,B 	A-BH 
A,B1, AxBA,B,A~ BHA,B 

37. P+R—Q 

(1) Q, Per fiJTI 

(2) Q,P'Y3I 

(2) 	Q,P ;Fr wTI 

(4) 	Q,P I 	 I) 

38. PxR±QH? 
(1) 
(2) P,R1i-i'I 
(3) P,Q1iJTI 

(4) P,QTHTHTI 

39. A B YcTr U, C a D 	A Ur IfUU D W , B 

(1) 	 (2) 	ftrar  

(3) 	WW 	 (4) 	UUT 

Direction (40-41) Questions Read the following and 
answer. 
Six students A, B, C, D, E and F are sitting on the 
Ground A & B are from NEHRU HOUSE while the 
rest belongs to GANDHI HOUSE, D & F are tall while 
the others are short, A, C & D are wearing glasses while 
the others are not wearing glasses. 

40. Which short student of Gandhi House is not wearing 

the glasses? 
(1) 	F 	 (2) 	E 
(3) 	D 	 (4) 	C  

1od1 (4o-41)u q3fI 

k. 
ABT 

Rft1cJ'9Hwarl W vr R1TtftcJ 1 9}1 ?TDF 

Wzft *frdI'1 UtI 

	

40. it J1)T 	 . 

dI'l 	1? 
(1) 	F 	 (2) 	E 
(3) 	D 	(4) 	C 



41. Which tall student of Gandhi house is not wearing 

glasses? 
(1) 	D 	 (2) 	E 
(3) 	F 	 (4) 	A 

42. A, P, R, X, S and Z are sitting in a row. S and Z are in 

the centre, A and P are at the ends. R is sitting-on the 

Left ofA, Then who is sitting on the Right of P? 
(1) 	A 	 (2) 	S 
(3) 	X 	 (4) 	Z 

Alka is older than Mala. Gopal is odler than Mala but 

younger than Alka, KAPIL is younger than Ram and 

Mala. Mala is older than Ram. 

43. Whose age is exactly in the middle of five? 
(1) 	GOPAL 	(2) 	Ram 
(3) 	Alka 	 (4) 	Mala 

44. Five boys took Part in race, Raj finished before Mohit 

but behind Gaurav, Ashish finished before SANJIT 

but behind Mohit, who won the race? 
(1) 	RAJ 	 (2) 	Gaurav 
(3) 	Mohit 	 (4) 	Ashish 

45. In a class of 60, where girls are twice that of boys, 

Kunal ranked seventeenth from the top. If there are 

Nine girls ahead of Kunal, how many boys after his 

Rank? 
(1) 	3 	 (2) 	9 
(3) 	12 	 (4) 	21 

46. Amit is now 6 times old as his son. Four years after, 

the sum of their ages will be 43 years, Determine 

Amit's Present age? 
(1) 	30years 	(2) 	32years 
(3) 	34years 	(4) 	38years 

47. In a row of ten boys, when Varun was shifted two 

places towards the left, he become Seventh from the 

left end, what was his earliest, position from the right 

end? 
(1) 	6th 	 (2) 	4th 
(3) 	2nd 	 (4) 	1st  

41. 
(1) 	D 	 (2) 	E 
(3) 	F 	 (4) 	A 

42, A, P, R, X, S Z ffW 8 '1a feV VA US M51 S 'r z 

(1) 	A 	 (2) 	S 
(3) 	X 	 (4) 	Z 

HWRSTTI 	 I 

43. 

(1) 	UTU rz;Y (2) 	UTK 

(3) 	)flT 	 (4) 	).fTT 

44. 

fi ftUT I )11ThT *f fr 4MI  va Aja fr fi-tt.  faur 

(1) 	STir 	 (2) 

(3) 	ciiT3 	 (4) 	'flftl 

45. 60 ff , I 

AtU 

6 I  

(1) 	3 	 (2j 	9 
(3) 	12 	 (4) 	21 

46. 

I'Ht 

(1) 	30 	 (2) 	32W W  

(3) 	34HT 	 (4) 	38W 

47. UT 

1 	 I 10 Pev ft tff 	f 

(1) 	6th 	 (2) 	4th 
(3) 	2nd 	 (4) 	1st 



Direction Questions (48-49) Find the correct 
	

IOdH 1{B? (48-49) R)tt?c ft gøo zt duIec* ft 
Group of signs to solve the equation? 

	
1/c*' RT? 

48. 24*16*8*32 
(1) 	+-= 	(2) 
(3) 	-+= 	(4) 	x±= 

49. 9*7*2*3*  10 
(1) 	±x+= 	(2) 	-+±= 
(3) 	+ - x= 	(4) 	-x= 

50. A is 40 mts. South-West of B, C is 40 mts. South-East 
of B, Then C is in which direction ofA? 
(1) 	East 	 (2) 	West 
(3) 	North-East 	(4) 	South 

51. Karan &Arjun start simultaneously from 9 O'clock 
and 6 O'clock with same speed. In clockwise and anti-
clock wise direction respectively. Where will be 
Karan &Arjun after walking for 15 minutes. 
(1) NORTH & East 
(2) South & North 
(3) East &West 
(4) East& North 

52. Asha is going Northwards, She turns right, Moves 
some distance and again turns to her right. After 
moving some distance she turns to her left, goes 
forward and again turns to her left, Now In which 
direction is Asha going. 
(1) 	North 	 (2) 	South—West 
(3) 	South 	 (4) 	West 

53. The Last day of the century can not be? 
(1) 	Wednesday . 	(2) 	Monday 
(3) 	Friday 	(4) 	Thursday 

54. Find the day of the weak on 5th November 1999? 
(1) 	Monday 	(2) 	Wednesday 
(3) 	Friday 	(4) 	Saturday 

55. At what time between 4:00 P.M & 5:00 P.M. hands of 
clock will coincide? 

(1) 	4:21-7-P.M. 	(2) 4:21-s-P.M. 
11 	 11 

(3) 	4:21 j-P.M. 	(4) 4:21P.M.  

48. 24*16*8*32 
(. 	+,- = 	 (2) 
(3) 	-+= 	(4) 	x±= 

49. 9*7*2*3*  10 
(1) 	±+= 	(2) 	-+---= 
(3) 	+ - x= 	(4) 	-±x= 

50. A, B4O - 	 B4OHZ 

(1) 	 (2) 	UH 

(3) 	 (4) 

51. aaTg MUFW f 	9 	ujt 

fw 	UI 	 Q;5z fBT 	U? .  4f 

Ifi5n 

(1)  

(2) 

(3) 

(4) VaEr a,  

52. 

WW;U @U tM-u'* Ka  it , frT , 	 . f 

? 

(1) 	 (2) 	U -U){ 

(1) 	 (4) 	1.fg){ 

53. 

(1) 	 U'd 	 (2) 	H' 

(3) 	}id'd 	(4) 	1cJ'd 

54. 56 	1999 	f.rr? 
(1) 	 (2) 	Ef U'd 

(3) 	 (4) 	HI6d'd 

55. T){ 4 5 	 f 

(1) 	4:21-1--P.M. 	(2) 	4:21-s-P.M. 
11 	 11 

(3) 	4:21 	P.M. 	(4) 4 21 10  P.M. 

7 



56. In which century February will have 29 days from 

the following? 
(1) 	2200 	 (2) 2300 
(3) 	2400 	 (4) 2500 

Direction (57-60) A solid cube of each side 8 cms, 
has been painted Red, Blue and Black on pairs of 

opposite faces. It is than cut into cubical blocks of 
each side 2 cms. 
57. How many cubes have only two faces painted? 

(1) 	8 	 (2) 	16 
(3) 	20 	 (4) 	24 

58. How many cubes have two faces painted red and 

black and all other faces unpainted? 
(1) 	4 	 (2) 	8 
(3) 	16 	 (4) 	32 

59. How many cubes have only one face painted red 

and all other faces unpainted? 
(1) 	4 	 (2) 	8 
(3) 	12 	 (4) 	16 

60. How many cubes have two faces painted black? 
(1) 	2 	 (2) 	4 
(3) 	8 	 (4) None 

Direction (61-62) Questions Triangle stands for 
Land owned by R, square stands for the Land 
owned by T, Rectangle stands for the area where 

vegetables are grown and circle stands for the area 

where Fruits are grown. 

56.UU 

(1) 	2200 	(2) 	2300 

(3) 	2400 	(4) 	2500 

fOdkI q9(5760) w 	Uika '4TRT 8 )1t. , 

M . urz7  

57.  

(1) 	8 	 (2) 	16 

(3) 	20 	 (4) 	24 

58. fkZ'~ UfU rfff 

(1) 	4 	 (2) 	8 

(3) 	16 	 (4) 	32 

59.  

(1) 	4 	 (2) 	8 

(3) 	12 	 (4) 	16 

60.  

(1) 	2 	 (2) 	4 

(3) 	8 	 (4) 	•5i:fr 

PSdft t[3(61-62) fc! t 	W8W R, 

Hr8W T Zr I 'i'1c*' Uitw fev gjP 

fQdI' iRJ?I 

61. Which Number represents the area that belongs to 

both R & T where vegetables & fruits both are 

grown? 
(1) 	3 	 (2) 	5 
(3) 	6 	 (4) 	12 

61. R T FW r 	 f 
QdI 	u?c? 
(1) 	3 	 (2) 	5 

(3) 	6 	 (4) 	12 

N. 



62. Which Number represents the area which belongs 

to R alone and where both vegetables & fruits are 

grown? - 

(1) 	2 	 (2) 	3 

(3) 	4 	 (4) 	5 

63. Direction (63-65) Questions which of the 

following diagrams correctly represents the 

relation between given three words. 

62. fc(J' *a @R 	S 	 1i-iu' NTT 1c R 

s'i1u 	 R1 U? 

(1) 	2 	 (2) 	3 

(3) 	4 	 (4) 	5 

63. IódH 1.[Ef (63 -65) 36'fZ. 	ftj' W Ic*cj' 

Mid 14B AeV W4 UT' ftF RTeT;ETR*tT tciH'Qt' 

0)0 0.0 
(2) 
	

(1) 	 (2) 

00 
0 

(3) 

( 

 0

0  

(4) 

00. 
010 

0 
(3) 	 (4) 

63. BED, WARD, HOSPITAL 	 63. 719, 4W, J14T5 

64. SEED, LEAF, ROOT 	 64. 	T, 1F-9r, iR 

65. SEA, MOUNTAIN, ISLAND 	 65. 	 ?T 

66. Which one word can be formed from the following 

Letters. 

aabcilin000rt 

(1) 	Collapsible 	(2) 	Locomotive 

(3) 	Colour fullers 	(4) 	collaboration  

66. 	f 	'it1 	1c' f 

a 	b ciii no o o r  
S.- -- 

(I) Collapsible 	 (2) 	Locomotive 

(3) Colour fullers 	(4) 	collaboration 



67. Arrange words as they occur in dictionary. 

(1) 	Pestle 	 (2) 	Pestilence 

(3) 	Pester 	 (4) 	Pest 

(5) 	Pessimist 

(1) 	4,3,1,5,2 	(2) 	3,4,2,5,1 

(3) 	5,4,3,2,1 	(4) 	4,5,1,2,3 

68. Number of letters skipped between adjacent letters 

in the series is in order of 1 2 ,  22, 32, which of the 

following series observe the rule given above. 

(1) RTWZ 	 (2) EGLO 
(3) CEJT 	 (4) EGLP 

69. Arrange the letters so meaningful word form? 

R T 	A 0 U 	H 

1 2 	3 4 5 	6 

(1) 124365 (2) 634152 

(3) 521436 (4) 251436 

70. If you write down all the numbers from 1 to 100 

than how many times do you write 3? 

(1) 	18 	 (2) 	19 

(3) 	20 	 (4) 	21 

71. A Total No. of 324 coins of 20 paise and 25 paise 

makes a sum of Rs. 71. The No. of25 paise coin is? 

(1) 	120 	 (2) 	124 

(3) 	132 	 (4) 	200  

67. 

(1) 	Pestle 	 (2) 	Pestilence 

(3) 	Pester 	 (4) 	Pest 

(5) 	Pessimist 

(1) 	4,3,1,5,2 	(2) 	3, 4, 2, 5,1 

(3) 	5,4,3,2,1 	(4), 	4,5,1,2,3 

68. dItll 	r # r'r 	 3' WFRTFVFF  

(1) RTWZ 	 (2) 	EGLO 
(3) CUT 	 (4) 	EGL1 

69. 

R 	T 	A 	0 	U 	H 

1 	2 	3 	4 	5 	6 

(1) 	124365 	 (2) 	634152 

(3) 	521436 	 (4) 	251436 

70. REff 3RT 1 t 100 	fdkdl fii at  3Fff W Vr.7 3 

(1) 	18 	 (2) 	19 

(3) 	20 	 (4) 	21 

71. 

rf25 *fri? 

(1) 	120 	 (2) 	124 

(3) 	132 	 (4) 	200 

72. A certain no. of horses & same No. of men are going 

somewhere. Half of owners on their horses Back 

while the remaining ones are walking along leading 

their horses. If the No. of legs walking on the 

ground is 70, how many horses are there? 

(1) 	10 	 (2) 	12 

(3) 	14 	 (4) 	16 

72. fi fffw?fl 

t w 	 uwtftr 

aU 	WJIi?fdIel 	 i70 

HU? iifit fdIe1 	? 

(1) 	10 	 (2) 	12 

(3) 	14 	 (4) 	16 

10 



Direction Question (73-74) The sum of the values 	1od 
of below bricks give the value of the bricks which 	 J5* jit ft@W #f 
is above two bricks? 

4+5=9 	 4+5=9 
x3  + p =   13 	 x3 +p= 13 

73. What will be the value of p? 

(1) 	5 	 (2) 	6 

(3) 	8 	 (4) 	9 

74. Find the value of y? 

(1) 	25 	 (2) 	45 

(3) 	55 	 (4) 	65  

73. p iftHtft? 
(1) 	5 	 (2) 	6 
(3) 	8 	 (4) 	9 

74. y 
(1) 	25 	 (2) 	45 

(3) 	55 	 (4) 	65 

Direction (75-76) Questions are given below with 
statement followed by conclusions. You have to 
decide which of the given conclusion follows from 
the given statements, disregarding commonly 
known facts. 

75. Statements:- 
Some kings are Queens. 
All Queens are beautiful. 

Conclusions:- 
I. All kings are beautiful. 
II. All Queens are kings. 
(1) Only conclusion I follows. 
(2) Only conclusion II follows. 
(3) Either I or II follows. 
(4) Neither I nor II follows.  

fOdH IgW (75-76) t& ft 	U oi1 A f 	ui 

f€i 

75. 

FrJ14# UT;Ett t  

(I) 

(II) 

(1) o1i'fRftI 
(2) o1'ffi 
(3) 

(4.) 
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76. Statements:- 

Most-Lilies are Roses. 

Some Roses are daffodils. 

Conclusions:- 

I. Some daffodils are Roses. 

II. Some lilies are daffodils. 

III. All daffodils are lilies. 

IV. No lily is a daffodil.  

76. H?? -

fprft dJ5' t 

I. 

II. NO Z6 U?T I 

w1fhJ?n 

IV. 

1. Only I and either II orlVfollows. 	 1. 	(I 

2. Only lfollows. 	 2. 	 rIHff) 

3. Either lorlVfollows. 	 3 	(611H' 

4. Only 1 and Ill follows. 	 4. 	(OltP IIIY1ffUN) 

77. 	What is the minimum number of colours required 	77 	UF-7 UfZ Wgd t f 	+ 	fj1-  w 
to fill the spaces in the diagram without any two adjacent 
spaces having same colour. 	A 	 A 

A) 	6 
	

B) 	5 
	

A) 
	

6 	 B) 	5 

C) 	4 
	

D) 	3 
	

C) 
	

4 	 D) 	3 

78. Count the Parallelogram in the given figure 	 78. 

(A) 23 	 (B) 22 	 (A) 23 
	

(B). 22 
(C) 	21 	 (D) 18 	 (C) 	21 

	
(D) 18 
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79. 	Select the one which satisfies the same 

conditions of placement of the dot as in fig. 
( 
X) 

79. 	f 	feu WW f* 	iTfP fJT4iT U,  I 1 	u ' ;U f 

(X) f 	+ 	+ 	 T 	 fj H'o 

(X) 	(1) 	(2) 	 (3) 	(4) 

80. 	A cylinder is painted in 6 colours-green,blue, 

yellow , violet, Red and ornage. Three positions are shown 

below Orange 

Yellow 	 Orange 

( 	Green 	 C, r Green 
Blue 	J 	 .Violet 

(i) 	 (ii) 	(iii) 

what is the colour in the emply space. 

(1) 	Blue 	(2) 	Green 

(3) 	Violet 	(4) 	Yellow 

Direction - Find the figure from the answer figure 

which will continue the serires (81-82) 

81 	Problem figure 

41  C~ 

Answer figure 

(1) 	(2) 	(3) 	(4) 

82 	Problem figure 

v,4_  

(X) 	(1) 	(2) 	(3) 	(4) 

80. 	f 	1x 	ff t'r i 	u, w, thw, 
dId1 , 	ft7ift 3 W,3 d f 	i 

(i) 	 (ii) 	(iii) 

IccJ;:V 	TflT1T 

(1) 	?tZ5T 	(2) 	JT 

(3) 	•dId] 	 (4) 	thw 

IOdH - 	 U f'i W @IT f 	 oit 

fr8dI'3'3.' )flTR(81 - 82) 

81 	qB?fiifti 

(1) 	(2) 	(3) 	(4) 

82 	qBftid 

o  1,  471 :-  ~4_  

Answer Figure 

x 	xf  C~% 
	xx 

(1) 	(2) 	(3) 	(4) 
	

(1) 	(2) 	(3) 	(4) 
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Directions-All the figures together form a series . The 
unnumbered figure marks the beginning of series 
position of two figures in the series are incorrect 
Series will be correct if these are interchanged . The 
earliest of two numbered figures whose position are to 
be interchanged is the answer ( 83-84) 

IodH -f 	3T 6 1 	f 	f 	f 

tit 4 IrJd f1; 	 -u* 

fd feU FUF3Ta73T 'v iii1.i 	 1I 	fieV  

uftr 	fidI' I 

83  - - 83  -* 

(1) 	(2) (3) (4) (5) (1) 	(2) (3) (4) (5) 

84 _ 

: 

_
:: 

_ 84 

_
:: 

.. )_ > );•ç) ; _ > 

(1) 	(2) 	(3) (4) (5) (1) 	(2) (3) (4) (5) 

85 

cn) C  ~  C  ~  Cq C  b  C  ~_ 

(1) 	(2) 	(3) 	(4) 	(5) 

Direction -Figures A and B are related in some way. 
According to same relationship among C and D figures 
choose the consent alternative (85-88) 

86 

± 	4° '? 

(A) 	(B) 	(C) 	(D) 

(1) 	(2) 	(3) 	(4) 

87 	

Y f~) 
 

(i\) 	(13) 	(C) 	(D) 

yny 
(1) 	(2) 	(3) 	(4)  

85 

Cq C  6  C  ~  Cq C  t  C  ~_ 

(1) 	(2) 	(3) 	(4) 	(5) 

f6dH - f 	A B f 	i*tr RwTh * ft 
*tf WcId C '){ D f 	YfTfiJ 	Rff 1cU 

(86- 88) 

86 
 

(A) 	(B) 	(C) 	(D) 

xxx ~  - (1) 	(2) 	(3) 	(4) 

87 	 _ _ 
(A) 	(B) 	(C) 	(D) 

-Y n V 
(I) 	(2) 	(3) 	(4) 

88 	 _ _ 
(J''k) 	 (13) 	((') 	 (I)) 

r~  ~  U I  r~  ~  U ~  - (1) 	(2) 	(3) 	(4)  

88   

(A) 	(13) 	(C) 	(1)) 

(I) 	(2) 	(3) 	(4) 
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Direction -Among five figures four figures are similar 	 5 f; f -  i37 	p-  WV fj-ç 
in a certiria way. Find the different figure (89-90)

r7  89_ _ _ 89 _ _ _ 

(1) 	(2) 	(3) 	(4) 	(5) 	 (1) 	(2) 	(3) 	(4) 	(5) 

90 	 90 
________ 	liii'! 	 _____ 	________ 	 __ 	 ________ 	________ 	________ 	________  ________ 	________ 	_____ 	liii'! 	Il/ill 	 ________ 	________ 	________ 	________  
_______ 	_______ 	____ 	_______ 	 _ 	 _______ 	_______ 	Ill/Il 	liii'!  ó"d'ó 	p o 	6' 	0 0 	00000 	 ô"6 ' o 	"o"6' 	00 	00 	ÔJ666 

(1) 	(2) 	(3) 	(4) 	(5) 	 (1) 	(2) 	(3) 	(4) 	(5) 

Direction- In question 91-93) question figure is 
embedded in one of the answer figures. Find the 

correct one in which it is embedded. 

91 

_X_ 	0)  @ 01 
(1) 	(2) 	(3) 	(4) 

Tx H 
(1) 	(2) 	(3) 	(4)  

IódtH -14E ( 91-93) f eV iii 	, Q 	f 	ftt 
ftrw fev URP)fr Jf T U,  Ift:Tg Wu ftj gf,.p{r jfT 

91 

- x  (D (D  I @  01 
(1) 	(2) 	(3) 	(4) 

LV 
(1) 	(2) 	(3) 	(4) 

(1) 	(2) 	(3) 	(4) 

Direction-In question (94) square /circular paper has 
been folded as shown with the dotted lines in the given 
figures. The last figure (2) shows how the paper has 
been cut. How would the paper look like when 

(1) 	(2) 	(3) 	(4) 

rodH- qr (9 4) ftu ft 	r /tF araT;Fr fr 
ffrftp{r Zr 	 fCT 	fdH 1 I*fr 

I 

unfolded.  Question Figure 	 Question Figure 

94 	 94 

Answer Figure 	 Answer Figure 

U000    	(1) (2) (3) (4) 

15 



Directions Q (95-96) In each of the following questions 
there is a relationship between two figures on the left 
side of the sine :: , the same relationship exists 
between the two , to the right side of sign :: , Find the 
correct alternative. 

f6d:(95-96)f1f 	IaH'o :U1* 

fd' 	 R'-ff-  IF  

95 Question figure____________  

CLO 	FZ  [fl? 
Answer figure 

N1  CIZ: :~l  1~4  
(1) 	(2) 	(3) 	(4) 

96 Question figure    	 96 qf 

CY 
 ?  

95 

Ig 

- — — 

Answer figure , Mropme, M al 0  1 IN 
97 

000 
00 

If the mirror image of the above figure is rotated to 
900 in clockwise direction, It will look like  

97 

000 
00 

ufwf 
90,4 UFWQ-<T-  FT 	FFIU  

1100 	
0 	

rl0 
o  ri 	 oIk1 	 rio 	 a' 1L' 

I 	I (1),l° 	(2) 01) 	 (1),0 	 (2) 

J0 	at,) 	 s,J0 	at,.) 

01 

I 	I I 	ID 
(3) 	\ 	I 	 (4) 0 	 (3) 	.. I 	 (4) 

'Jo 
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98. 	Find the water image of given figure98. f 	t 	Wt f - 	1f 	Th 

LI(J L1J 

2") &M 2") 

(3) (4) (3) (4) 

99. 	Find the water image of given figure 99. 	f 	 f 	11 

Workno.lhard Workno.Ihard 

(1) 	oquJopaLq (2) moLJuoJpaLq (1) JoLnoJpaLq (2) JfoLluJoIJJaLq 

(3) 	oL(uoJqiq (4) ftoLJuoJpaLq (3) 	OLJUJOJqBJq (4) 	OLJUJOjpaLq 

100. 	Given below are three different positions of 
dice. Find the number of dots on the face fo opposite 
the face bearing (3) three dots? 

100. 	t as-Elm (t ) #tW ftw eval-001'i 
HW1' fftf 	Ith3)HJ 

JdI' ? 

.  0 	0  I4• /1 'WI 

::.

1  
. 	

. . 

	

(1) 	(2) 	 (3) 	 (1) 	 (2) 	 (3) 

	

(1) 	1 	 (B) 	5 	 (1) 	1 	 (B) 	5 

	

(C) 	6 	 (d) 	None 	 (C) 	6 	 (d) 	None 
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